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Problem 4 (20 points) e Yetzs I
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Using OK flip-flops as designed below and multiplexers for logic, design a minimum system
which has the following behaviors:

. L | 3
Inputset.w ic‘;boc‘»&s‘ U et X\\ngo|\-50* K %o by, Uye
Output: 1 if x(t-n, t) = a[blc]+d*a T g ‘

0 otherwise ¥ Yo VYo *X\V)\“ﬁo'fxvxo")v
Notes: Ly

Overlaps can occur. For example adada would output 00101 \y \k D) T X Xe ¥ X Xo Wy
| means OR
* & Sy

means 0 or more of the previous character Q (Xﬁ = Ny Lx 3 X\

+ means 1 or more of the previous character

Prev State Q(t) OK
00 {01 10 11
0 1 1 0
1 - 1 0 0
Nxt State Q(t+1)

N Y_\D\ C1+ &’% o




Problém 3 (20 points)

)Dom\\o Loghcal W"

et

Given two 1-bit input streams A and B, output 1 if the difference betwﬂ;n ;? 2 E’ | i
the pattern “001” appears in stream A and “101” appears in stream B li;_ N e eant "'yi .
between the number of their appearances is not 3, then the output 1s>g. ou may mﬁ‘
flip flops or logical units of your choosing.

For example:

A: 001000000

B: 101010101
Would output: 000000001. Notice that the B pattern overlaps. *> e =
\ O 0lp
O
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: '%input,{A,BCDEF} designasy
um sum between any of the 2 inputs. You may only use mulﬁpiexers to

For example, if all the inputs are 01, then the maximum sum output should be 010.
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